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GREEK 495
A Exam 1A &

Lessons1- 4
James 1:19-27
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SsTranslate 1:26-27 by the dynamic-equivalent method (38 answers):

oK Parse (42 answers):
1. (1:19) aderodot (6 answers): 2nd - Voc - Masc - Pl - adelooc, o - brothers

2. (1:21) amobépevor (12 answers): 2 Aor (Const) - Mid (Intensive) - Ptc (Adv: Temporal) - Nom - Masc
- M - drotibnut - having taken off

3. (1:24) xoatevonocev (8 answers): 1 Aor (Gnomic) - Act - Ind - 3- Sing - kotavoém - helooks at, gazes

a

4. (1:25) teherov (9answers): Adj (Attrib) - Acc- Masc - Sing - téletog, o, ov - perfect, complete

5. (1:27) mp<£ilv (8answers): Pres(Descrip) - Act - Infin (S: Appos) - tpew - to keep, guard
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wAnswer the following questions (20 answers):
Classfy thefollowing subordinate clauses:

1. (1:23)(3answers):

Form:

Conjunctory Function(s): Advervial Conditional

2. (1:24)(3answers):

Form:

Relative Function(s): Substantival Object

3. (1:26)(3answers):

Form:

a 10.

Conjunctory Function(s): Advervial Conditional
Thesyntactical function of theinfinitive dkovoor inverse19is
a) verba purpose b) verva result
c) verbdtime d) substantival modifier

. Which of thefollowing referencesislessrel ated to the content of statement 26 than the others?

a) “Donatbequickly provokedinyour spirit, for anger residesinthelap of fools.” (Eccl. 7:9)

b) “Thequiet wordsof thewiseare moreto be heeded than the shouts of aruler of fools.” (Eccl
9:17)

c) “Whenwordsaremany, sinisnot absent, but hewho holdshistongueiswise.” (Prov. 19:19)

d) “Evenafool isthought wiseif hekegpsslent, and discerningif heholdshistongue.” (Prov. 17:28)

. Theview of nepioceiav kaxio? inverse 21 that it refersto thetendency of evil to get out of handin

one'slifeisbest expressed by which of thefollowing trand ations?
a) “supefluity of naughtiness’

b) *“every other evil whichtouchesthelivesof others’

c) “whatever widkednessdtill remains’

d) “themdicethat hurriestoexcess’

Thethesisof statements29-35 (vv. 22-25) isbest stated as
a) Christiansmust practice God'sWord.

b) Chrigtiansmust meditate upon God sWord.

¢) Christiansmust hear and then obey God’sWord.

d) Christiansmust not forget what God’s Word commands.

The proper setting of thispassagefor theearly churchis
a) Didoguebetweenindividuds. b) Congregationa worship.

Theunifyingmotif for 1:19-27is

a) therepetitivereferencesto the Word of the gospel.
b) thenecessity of obedienceto God.

c) thedetection of genuinereligiousconfession.

How do statements 26-27 relateto statement 28?

a) They expressagenera axiom about speech which Jamesthen appliesto the reception of the
gospel in corporateworship.

b) They identify thegeneral topic for the passage as dealing with personal conversation between
individuds

¢) Theconjunction & introducesthereason for the preceding statements.
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_Cc__ 11. Howislooking at one' sfaceinamirror like being ahearer of the gospel ?
a) Thegospel demands obedienceto God whichwe needto hear.
b) Thegospd makesno real impact onthe hearer.
c) Thegospd reflectsback tothe hearer atrueimage of hisspiritual condition.

C 12. Which of thefollowing best explainsthere ation of Luke 11:28to0 James 1:25?

Luke 11:28. attog 8¢ einev, Mevodv pokdpiot ot dkovoviec 1ov Adyov 10D 0D Kol dpuAAGCOVTEC.

a) Thetwo passageshaveno real connection to oneanother.
b) Both passages pronounce ablessing on the hearer who then obeystheword.
¢) BothJamesand Luke stresstheimportanceof thekind of hearing that |eadsto obedience.

b 13. What e ementsare common to James 1:27 and Deut. 14:29?

Deut. 14:29 «xai €ievoetar 0 Agvitng, 6tL oVk £6TL AVT® pepPLg 0VdE KANPOC UETO 60D, KOl O
TPOONAVTOG KOl 0 OphovOg KOl 1) ¥Npa N €v T0ig TOAEGLY G0V Kol ddyovial Kol Euninobncovior,
ivo edAoynom o€ KVpLog 6 Bed¢ Gov €v TaloLy T01¢g £pYOLG, OlC €0V TOLTC.

a) Opnokeia inJamesand Aevitngin Deuteronomy.
b) 6 dpdavog kol N yfpa in both James and Deuteronomy.
C) «xo6ouov inJamesand taic torestv cov in Deuteronomy.

_d__ 14. Thegroup of folksin our churcheswho most need to hear the message of 1:19-27is
a) thedeacons.
b) theWednesday night crowd.
c) theTuesday night visitation crowd.
d) theinactivecrowdonthechurchroll.
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